TEST THIRTEEN

A/ Comprehension

1. b. Gender inequality in education.

2. a. inform

3.aT b. T ¢ F dT

4.b. Gender Inequality in Education in the World.

5. a.South Africa and Asia  b.Pakistan

B/ Text exploration
1. a.achieve  b.worldwide c. incalculable d. drop out
2. equal/equal - calculation/ calculated and calculating
3. a.because of  b.although c.dueto d. neither ... nor
4.b-d-c-a

TEST FOURTEEN

A/ Comprehension
1. ¢ . Schools are becoming a source of security and role models for children.
2. §4
3.aT bF ¢T dF
4. a. because of poverty or discord between their parents

b. teaching the difference between right and wrong and showing the young how

tolook after their health
5.a. children b. teacher
B/ Text exploration
1. a. advance b.task c. persuade d. real
. poor- healthy- respectful/respectable d. responsible
. suggests- are looking for- have not found- have
. T1: Most of them complain about discipline
T2: Class size is a problem, too.
J1: What do you do then?
J2: What is yours?
5. 1 syllable = school 3 syllables = challenging 4 syllables = dislocated
5 syllables = globalization
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